\50 ol D‘DBO\]\Unit 2: AP Free Response Practice #% (2008 FR #3, modified) [10 points]
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1. A 0.%g sample of solid lead (1} nitrate is added to 125 mL of 0.100 M scdium icdide solution. Assume no change

in volume of the solution.

a. A chemical reaction takes place and a precipitate is formed.

i.  Write the balanced equation for the reaction, including states. [2 point]

di. Write the balanced net ionic equation for the reaction, including states. {1 point]

b. Calculate the number of moles of each reactant. [2 points]

¢. ldentify the limiting reactant. Show calculations to support your identification. |1 point]

d. Calculate the molar concentration of NO3™(aq) in the mixture after the reaction is complete. [2 points]

e. Circle the diagram helow that best represents'the results after the mixture reacts as completely as possible.
Explain the reasoning used in making your choice. [2 points]

3

( 3

Solid PbI,

\ (

@

No Pmcapltate

3

o

0
@

r

Solid PO(NO,),

et s

.

®

=G

(@) PL(NOQW% = 2 NaTjaqy %Lm " 2 NaNOsragy

S P =
‘(H} Pbﬁ*(a? * DK Cﬂ%) - PbT, o)




5

0) 0.156 L % 0030 M =]0.0045 mol Poliins), |

moleSyat = 0.100M x 04251 <[0.0125 mol NaT)

T —
<) 0.0045 Ml (Pwloa\ oDoqsﬁ 0,018 md NaL = 0,00425
A Sl
Jiwgiting
ot

d\) Al NY); LoMm el (“\(W Plo{u“{)?\z -

H,5g -2 mol TR(ND3), o A Mol NO;™ = D.0090 me| NO;~

| 0t Po(IND2 ),

SIS |

[ND: )= 0,0090 mpl _=[0.033 M N,

0.2%F5 . L '

e\ bezCSB D'(‘,DCND\"‘PGJ(@& PIOCNDS;)“Z WAl !i""\ ‘{'\my T neo Pk) M%’S

in E?c:\ h. N&I WS in 2xCelS Se both Nat gad I: Gv‘“{? aquoons, bt

L 3T-3KL El\lﬁ*—l Since %\me TS whecl Lp i the ;}W‘?{A{m%d@




